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JAYPEE UNIVERSITY OF INF_ORMATION TECHNOLOGY, WAKNAGHAT
TEST -3 EXAMINATION- May 2018
B.Tech Semester 6
COURSE CODE: 10B1 1PD611 MAX. MARKS:35
COURSE NAME: Project management

COURSE CREDITS: 3 MAX. TIME: 2 hr

Note: All questions are compulsory. Carrying of mobile phone during examinations will be treated as case of unfair means.
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a) Draw the activity on arrow diagram sh
b) Calculate the time to complets the %;;;pj ect, .
©) Calculate the float/slack that is}gyc‘fé‘if??qgfggi‘fh the activities and events.
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With the help of a network diagram, determine the critical path. What is the probability that the length of praject does not
exceed 40 days? 6 marks)



3. The following table gives the activities in construction project and other relevant information

ACTIVITY

PREDECESSOR. Time (in days) Direct Cost (Rs.)
Normal Crash Normal Crash
A - 4 3 60 90
B - 6 4 150 250
C - 2 1 38 60
D A 5 3 150 250
E C 2 2 100 100
F A 7 5 115 175
G . . | DBE 4 2 100 24Qz:
Indirect Costs vary as follows: :
Days 15 14 13 12 1i 10 9 8
Cost (Rs) 600 500, 400 © | 250 175. 100 75 50
a) Draw the arrow diagram for the project. S .
b) Determine the project duration which will result in minimum total project cost, ] vharks)
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5. Why'is project control challenging than operations? Also highlight any two tools for controlling. (4 marks)

6. Contrast between the following (9 marks)

a. Top down vs bottom up Budgeting process

b. Termination by integration vs by addition

¢. Cybernetic vs Go/No-Go control system



